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<KFFESC 1> 4
(A <FRESC 2 > oW, BRSO 4
<HFEXL 3> KR, | 4
(P8 E ] < Question 1 > 4
< Question 2 > 4
(A1) spring 4
(2] | 2A - 2-B A 2X2
(53] able to hold / able to touch 4
(4 - 4
(A35) breakfast 4
(f6) Saturday 4
(7)) |7a| 7 |7B| = |7c| ¥ |7D| A |s&Ec4
(R18] Learning a foreign language makes our life richer 4
(9] A by 4X2
(1] - v = A4 = X = 7 FET4
(f2) how tea was introduced / how tea was brought
how it was introduced / how it was brought *
(R3] something to drink 4
(R 4] guest / guests 4
(5] are different 4
(Ri6) late 4
(R 7) began to invite their friends / started to invite their friends 4
(8] * 4
X & W
(F9) 8
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